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Syters & Particles - Rigid Bodies
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Example
A shell is fired from a

you
ur muzzle

velocity 466-s , o an angle
of 57. 4" Wi
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vatically . How for from the yuu

does

the other fraguid land
, assuring

leve terrai !

Solution

0 ->
~

,
- ↑

- .....

.......
·
~= 0

-

-

W

"Wo
= 466/s

·

70 : 57, 407 ⑧

S 1111111111 , "/"-
C >

x = ?

Let's solve
using

cate mass
.



the cuter of mass mola is
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Example

Find the momet of cation of the compound

syste show , abou the
cater of mass .
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Example

A pulley & moret of inetic 2 . 0 by -n is

mounted a a wall as shown . Light strings
are wrapped around two circumferences of

the palley and weights are attached
.

Who are the (as angular accordion
of

the pulley , &(b) the livew accedion

of the weights ?
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Example

A mifore this roc of mass M and

length I is falling as show .
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